
No. of Printed Pages : 8 LSE-02 

BACHELOR OF SCIENCE (B.Sc.) 
r—I 

Term-End Examination 
ti 
CD 	 June, 2012 
CD 

LIFE SCIENCE 

LSE-02 : ECOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : All sections are compulsory. 

SECTION - A 

Note : All questions of this section are compulsory. 

1. 	State whether the following statements are 	3 
true (T) or false (F) : 

(a) Plant community is a biotic component of 

an ecosystem. 

(b) 'Slash and burn method' of cultivation is also 

known as Jhum cultivation. 

(c) Clay particles attract and hold negatively 

charged particles. 

(d) Benthic zone of lakes is formed by 

autotrophs. 

(e) In tropical forests a large part of organic 

carbon is in the plant biomass. 

(f) Energy flow is always in multidirections. 
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2. 	Give the technical term (in one or two words) for 	2 
each of the following : 

(a) Dark amorphous colloidal material derived 

from partial decay of organic debris. 

(b) Transitional zone between two adjacent 
communities. 

	

3. 	Fill in the blanks : 	 2 
(a) Light intensity is measured in the unit 

(b) 	 is the calender of events in the 
life history of a plant. 

(c) Forests can be evergreen or 	 

(d) Weathered materials transported by 
running water form 	 soil. 

4. 	Define the following : 	 3 
(a) Standing crop 

(b) Profound zone 

(c) Detritus food chain 
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SECTION - B 

Note : 	(i) 	Attempt any four questions. 

(ii) All questions carry equal marks. 

5. Describe the differences and similarities between 

impoundments and lakes. 	 21/2+21/2 

6. Describe the role of pH in nutrient availability in 
	

5 
soil. 

7. What are age pyramids ? Describe the three types 2+3 

of age pyramids. 

8. (a) Describe with appropriate examples the role 2+3 

of Keystone species. 

(b) How are Keystone species different from 

that of dominant species ? 

9. Describe any two synthetic characters of a plant 
	

5 

community. 

10. (a) Why does pyramid of biomass in some 	3 
aquatic ecosystems acquire on inverted 

shape ? 

(b) Explain the limitations of ecological 	2 

pyramids. 
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SECTION - C 

Note : 	(i) 	Attempt any two questions. 

(ii) All questions carry equal marks. 

11. (a) Describe the significance of forests. 	 5 

(b) Discuss the various causes and 

consequences of deforestation. 

12. (a) What are the various categories of 	5 
threatened species ? Write one or two lines 

about each. 

(b) Describe briefly the 'Red Data book' and 

'Project tiger'. 	 21/2+21/2 

13. (a) Briefly describe the different kinds of 	4 
succession. 

(b) Describe the various steps involved in the 	6 
process of succession. 
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